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HifE 0 201958 ~2019FTAMDE S#HstiE
2019458 201946 8 2019487 A HEE EY NEFH
e () £% (FH) #e(t) % (FH) #E (b <% (FA) (t) (FA) (A/1)
LNG 5,567, 682 302, 170, 888 5,200,073 274,351, 894 6, 821, 627 363, 334, 998 17, 589, 382 939, 857, 780 53,430
JOo/sy 774, 383 45,214,175 667, 144 35, 002, 987 642,613 31, 270, 323 2,084, 140 111, 487, 485 53, 490
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2. EHEEMEE
o=y 53, 700 H
[EEHK]
( 53,430 x 0.9503 ) + 53,490 x 0.0546 ) = 53, 700
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3. FY¥REPHEIE & EEFYRPMIEOELRE (REMAOIEESIEE)
12, 600 M
[EER]
66, 310 M - 53,700 M = 12, 600 M
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-11.44 H
[EER]
( -0.084 M x 12, 600 = 100 H ) x 1.08 = ~11. 44
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